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Consider the following terms and their 1.
meanings during the Gupta Period:

Term Meaning
1. Agrahara Tax-free land grant to
Brahmins
2. Vishaya  Administrative division
3. Bhukti Governor of a province
4. Uparika  Temple donation

Which of the terms are correctly matched?
(a) 3 and4 only

(b) 1,2,and 4 only

(¢) 1and2only

(d) All of the above

Which of the following texts mentions 2.
Satavahanas as the “Andhras”?

(a) Mahabharata

(b) Puranas

(c) Kalpasutra

(d) Arthashastra

Match List-I with List-II: 3.
List-1 List-1I (Associated
(Cultural Terms) Region or Culture)
A. Black and Red 1. Mauryan Period
Ware
B. Painted Grey 2. Vedic Period
Ware
C. Northern Black 3. Harappan
Polished Ware Civilization

Select the correct code:

(a) A-3,B-1,C-2

(b) A-2,B-1,C-3

(¢) A-1,B-3,C-2

(d) A-3,B-2,C-1 4-

Which of the following scholars correctly
identified and deciphered Brahmi script of
Ashokan inscriptions?

(a) Max Miiller

(b) James Prinsep

(¢) John Marshall

(d) Mortimer Wheeler

Which of the following philosophical schools
of ancient India did not reject the authority of
Vedas?

1.  Charvaka
2. Ajivika
3.  Nyaya

4.  Samkhya

(2-A)
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Select the correct answer using the code
below:

(a) 1and?2only

(b) 1,2,and 4 only

(c) 3and4only

(d) All of the above

Which dynasty did Pulakeshin II belong to
and who defeated him?

(a) Chalukya,defeatedbyNarasimhavarmanI
(b) Pallava, defeated by Vikramaditya

(c) Rashtrakuta, defeated by Mahendravarman
(d) Chalukya, defeated by Harshavardhan

The Ikshvakus were successors of which
dynasty in the Deccan region?

(a) Rashtrakutas

(b) Chalukyas

(c) Pallavas

(d) Satavahanas

In Sangam literature, who were referred as

“Muvendar”?

(a) The three prominent poets of the Sangam
assemblies.

(b) The three prominent gods worshipped
during the Sangam age.

(c) The three crowned kings of Tamilakam:
Cheras, Cholas, and Pandyas.

(d) The three famous Sangam epics.

Which of the following Mauryan officials
mentioned in the Arthashastra
responsible for economic regulation?
1.  Samaharta

2. Sannidhata

3. Panyadhyaksha

4. Sulkaadhyaksha

WEre

Select the correct code:
(a) 1,2,and 3 only
(b) 2,3, and 4 only
(¢) 1,3,and 4 only
(d) All of the above

Which of the following inscriptions of
Ashoka is considered the earliest evidence of
prohibition against animal sacrifices in India?
(a) Rummindei Inscription

(b) Minor Rock Edict at Bairat

(¢) Rock Edict I

(d) Kalinga Edicts

10.

(3-A)
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Which of the following pairs of battles and
their respective years are correctly matched?
Battle Year
1. Battle of Tarain (First) (A) 1191

2. Battle of Chausa (B) 1527
3. Battle of Khanwa (C) 1528
4. Battle of Ghaghra (D) 1529

Options:

(a) Only1and?2
(b) Only 1and4
(c) Only3and4
(d) Only2and3

Match the following Moti Masjids with the
rulers who built them:
Moti Masjid Ruler

1. Moti Masjid (Delhi)  (A) Shah Jahan
2. Moti Masjid (Lahore) (B) Jahangir

3. Moti Masjid (Agra)  (C) Aurangzeb

Options:

(a) 1-B,2-A,3-C
(b) 1-A,2-C,3-B
(¢) 1-C,2-B,3-A
(d 1-A,2-B,3-C

Consider the following statements regarding

the administration of Bahmani Kingdom:

1. The kingdom was divided into tarafs for
administrative convenience.

2. The capital of the Bahmani Kingdom was
shifted from Bidar to Gulbarga.

3. Bahmani rulers promoted Persian culture
and language in their courts.

Which of the statements given above is/are
correct?

(a) 1and?2only

(b) 2and 3 only

(c) 1and3 only

(d) All of the above

Match the following poets with their courts:
Poet Court/King
A. Banabhatta 1. Samudragupta
B. Rajashekhar 2. Rajaraja Chola I
C. Harisena 3. Harsha
D. Kamban 4. Mahendrapala I

11.

12.

13.

14.

(4-A)

frefafed & 9 #HA-9 g5 iR 9% od we
grifera €72

I35 L

1. @ & 9UH IS (A) 1191
2. W W gg (B) 1527
3. WHEEl & g5 (C) 1528
4. SR H IS (D) 1529
ICEISE

(a) wae 1 3R 2

(b) e 1 3R 4

(c) e 3 3R 4

(d) weet 2 3R 3

frafafea @t wfssl &1 = 9 R 9
IR & 91 faam S

et aftg IEh
1. #rdt AfS] (fReeft)  (A) sl
2. Tt ufeg (AER)  (B) SRR
3. Tl wfesE (W) (C) SRS
IEETR R

(a) 1-B, 2-A, 3-C

(b) 1-A, 2-C, 3-B

(c) 1-C, 2-B, 3-A

(d) 1-A, 2-B, 3-C

T WU & WEE & ga9 § fAefafEa

FHIT R fa=m Fifea:

1. wRmEe giaen & fau 9w i sl
o fgaifsa fean e

2. TEHAl WENT i qSEH el 9 e
TYFIART 1 TS |

3. 9@l IR A I WER H O HRET
Hepfd R Ao K1 agren e om

feu U wert § ¥ wE-w/A T 282

(a) aa | 3R 2
(b) a2 3R 3
(c) waa | 3R 3
(d) ST g
frefafaa wfeet 3k 399 @ &1 foam
EAISLES
wia AT /T
A. 9 1. T
B. TSRER 2. TSRS 9 9oHm
C. =fEm 3. &9
D. &Fed 4. RS GUH

www.nextias.com



NEXT IAS

Select the correct code:
(a) A-2,B-3,C-4,D-1
(b) A-2,B-4,C-1,D-3
(¢) A-1,B-3,C-2,D-4
(d) A-3,B-4,C-1,D-2

15. Which of the following statements about 15.
the administration under Alauddin Khilji is
correct?

(a) Diwan-i-Arz was responsible for market
control.

(b) He implemented the Dagh system to
brand horses for military purposes.

(¢) Diwan-i-Insha managed the revenue
department.

(d) His land revenue reforms eliminated the
need for /gta holders.

16. Which famous literary work is attributed to 16.
Raja Bhoja of the Paramara dynasty?

(a) Rajatarangini
(b) Sarasvati-Kanthabharana
(c) Natyashastra
(d) Lilavati

17. Which of the following statements about 17
Sufism in India is correct?

(a) Chishti order emphasised on meditation
in seclusion only.

(b) Suhrawardi order emphasized poverty
and simplicity.

(¢) Qadiri order was introduced to India
during Akbar’s reign.

(d) Nagshbandi order emphasized strict
adherence to Sharia.

18. Consider the following traveller and various 18.
rulers:

Traveler Ruler
1. Al-Beruni Muhammad Ghuri
2. Marco Polo Pandyan rulers
3. Abdur Razzaq Devaraya II
4. Francois Bernier  Jahangir
Which of the above are correctly matched?
(a) 3 and4 only
(b) 1,2 and4 only
(¢) 2and3 only
(d) 1,2and3 only
[A-lIl-24] 030812 (5-A)

& Hle MU :

(a) A-2,B-3,C-4,D-1

(b) A-2,B-4,C-1,D-3

(¢c) A-1,B-3,C-2,D-4

(d) A-3,B-4,C-1,D-2

TS faerst & WA & 9R § f=fafea

o § -9 HoH FE B2

(a) TAE-T-3 TR 0 & fau fSesR
o

(b) = el w = seyA & fou g
FE & T AT YoMt AN i off)

(c) TAM-T-3IM TSHA IR 1 Ga&= Ll
o

(d) T 9-TSE R 7 THRT GReI hl
STETIHAT ! AT T 2 o)

frfafes o @ wF-@1 yfag w@ifefas o

TR S % TS ISl gAfdd 872

(a) TSIaRATOR

(b) TREAA-H ST

(c) IR

(d) et

IRd o g%l W & a) A frefafed § @

AT HUT TWEl B2

(a) Tovdt WIU 7 Had THd § &H W AR
ez em

(b) HeUad Wo A Tl SR Terdar W SR
fe=m em

(c) HET NI 9RA H TheR & IMATHRA &
N IE e

(d) -TREG WA A TG HT FHeR 9 o
FE W SR = am

frefafed =@ ot fafa= el w fomr

EAISLES

Rl IS
1. ora-w%l qeHg U
2. ORI dren e IMEE
3. R Tl 3g 1 fgda
4, WHEE FHIR SRR
T 9 % 9 T A W W@ B2
(a) 3 3R 4 How
(b) 1,2 3R 4 wad
(c) 2 3R 3 Hew
(d) 1,2 3R 3 ®ad
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Bahmani Kingdom which was established in

the Deccan, broke away from which among

the following dynasty?

(a) Tughlaq dynasty

(b) Khalji dynasty

(c) Lodi dynasty

(d) Mughal dynasty

Which of the following is a correctly matched

pair related to ancient Indian painting

traditions?
Painting Style Region

Odisha

Gujarat

Andhra Pradesh

A. Pattachitra
B. Manjusha
C. Kalamkari

D. Warli Rajasthan

Select the correct code:
(a) AandC only

(b) A, CandD only
(c) A,BandC only
(d) BandD only

Which of the following Acts of British India
formally introduced the principle of indirect
elections for the first time?

(a) Charter Act of 1853

(b) Indian Councils Act of 1861

(¢) Indian Councils Act of 1892

(d) Government of India Act of 1919

Consider the following statements regarding

the Hunter Commission (1882):

1. Itrecommended the transfer of control of
primary education to local bodies.

2. It advocated for women’s education in
vernacular languages.

3. It suggested English as the medium of
instruction at all levels of education.

Which of the statements given above is/are
correct?

(a) 1and?2only

(b) 2and3 only

(c) 1only

(d 1,2,and3

With reference to the Revolt of 1857, consider

the following events:

1. The execution of Mangal Pandey at
Barrackpore.

2. The siege of Kanpur by Nana Sahib.

3. The proclamation of Bahadur Shah Zafar
as Emperor of India.

19.

20.

21.

22,

23.

(6-A)

TEEAI WA, S TFRT H TAMGG I, 98
e TSEY W ST g3 ar?

(a) Tk a0

(b) wferst 5w

(c) <l a9

(d) wm@ a9

frefafga & 9 @9 @ T qEE - 9RdE
festeren wuwet 9 defod @@l g 8?2

forepem Jett @
A.  TafEA ISl
B. oW ToRTa
C. HaHsr MY YT
D. aRelt RSESIE]
el ®ie IH:
(a) A 3R C ®aa

(b) A, C 3R D ®ad

(¢) A, B@R C %aa

(d) B 3R D Haa

frefafed & 9 wH-a1 sifafem fafes ar/g o

gl IR Seae A % THgid S SiaEi

®9 § o Bl 22

(a) T THR 1853

(b) 3feaa FRfacy TR 1861

(c) sfea FRfEw TH 1892

(d) TEEEe ATE Efea WEe 1919

TR FHTHE (1882) & Hay H fy=fafed

FHIT R fa=m Fifea:

1. o4 wufae e &1 o e
el w1 | w1 fawiir & o

2. T4 dfgenst &1 foen & fou zeomriw
aroreT § fY1etor i gehTerd @i off|

3. O gt R W fiam & Wem % w9
o 31US w1 gea = em

feu U wuA ¥ @ FH-"/A G99 2872

(a) wae 1 3R 2

(b) et 2 3R 3

(c) Had 1

(d 1,2 33

1857 & fagis & wsd #, f=fafed et

R foar wifsa:

1. R T T qE H B

2. M GEd g KA Hi EE|

3. WEIgT IME %I hi 9RA o1 TS =fa
FHE
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Arrange the events in chronological order:
(a) 1-2-3
(b) 1-3-2
(c) 3-1-2
(d 2-1-3

Government of India Act, 1919, introduced
dyarchy in the provinces. Which of the
following subjects were transferred to the
“transferred list” under dyarchy?

(a) Public health and sanitation

(b) Irrigation and railways

(c) Finance and law and order

(d) Police and land revenue

In which year was the Poona Pact signed,
and how many seats were reserved for the
Scheduled Castes in the provincial legislatures
as per the agreement?

(a) 1931, 147 seats

(b) 1931, 146 seats

(c) 1932, 146 seats

(d) 1932, 147 seats

Which of the following was the first-ever
session of Congress in which Mahatma
Gandhi appeared?

(a) Calcutta, 1901

(b) Madras, 1903

(c) Madras, 1914

(d) Bombay, 1915

Assertion (A): Provincial Elections of 1937
marked a turning point in the relationship
between the Congress and the Muslim League.

Reason (R): Congress refused to include

Muslim League members in its ministries in

most provinces, despite their request.

Options:

(a) BothAandR are true, and R is the correct
explanation of A.

(b) Both A and R are true, but R is not the
correct explanation of A.

(c) Adistrue, but R is false.

(d) Adis false, but R is true.

Carlyle Circular (1905) which was issued by

the British Government in Bengal, aimed to:

(a) Curb revolutionary activities in Bengal.

(b) Regulate the activities of vernacular
press.

(¢) Restrict the participation of students in
political movements.

(d) Prohibit the wearing of Khadi in schools
and colleges.

24,

25.

26.

27.

28.

(7-A)

TSN 1 R He HH § Hafedd Hifag;

(a) 1-2-3

(b) 1-3-2

(c) 3-1-2

(d 2-1-3

IR R Afaf=m, 1919 3 wial § g

EA (SATHRT) i JEsTa il f=fafea o

¥ ®F-9 fawa wwraia g & sfafq o

o9?

(a) WS ey SR T

(b) fe=r iR o

(c) fom @R FrA e

(d) gferd SR g-Tere

T Yo fRe 9 el gen o e &

STTER wida faemamet ¥ sryfaa sfaet &

fau ferat @S stfera =t T2

(a) 1931, 147

(b) 1931, 146

(c) 1932, 146

(d) 1932, 147 ®

TR T 109 & fF59 99 o Aqerem meh

3 Teelt IR IUfeAfd 35 U o?

(a) eI, 1901

(b) W™, 1903

(c) WSH, 1914

(d) @, 1915

HAT (A): 1937 & WdE TAE HUH AR

Afem o & o= 99 | T "gegul 1g

Hrfed gul

qeh (R): &9 7 iferemisr widi & gieem o

% TE oo whaft # wnfrd s @

THR w e, Safe 3= T eruy faan

o

faea:

(a) A @R R A @& €, R R, A F T
A Il 2

(b) A R R A TEl B, dfFT R, A &1 T
AT &l il

(c) A W& 2, ofh R TTerd 21

(d) A 7o ®, wfed R ®El 2l

Fresad IR (1905), o4 fafewr TR g/

A ° S fRA T o, ST IETA ol

(a) M § swifaer fafafe=i o Ak T

(b) <=M 9w =t Tiafafel = fefE w5

(c) Bl H TSGR TaeEl § TR
Hifga s

(d) THA AR Fiowel ¥ @ Te W Ufds
SR
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During the Quit India Movement (1942),
who was popularly referred to as the “Lion of
Satara”?

(a) Babu Genu

(b) Nana Patil

(c) Keshav Baliram Hedgewar

(d) Ganpatrao Patil

Sarda Act (1930) is significant in the history
of social reform in India. What did this Act
aim to achieve?

(a) Abolition of child marriage.

(b) Legalization of widow remarriage.

(c) Prohibition of sati.

(d) Abolition of untouchability.

Consider the following statements regarding
the Workers and Peasants Party (WPP) in
India:

1. It was established in 1925 to promote
Marxist ideas among workers and
peasants.

2. It was closely affiliated with the Indian
National Congress.

3. S.A. Dange and Muzaffar Ahmed were
its prominent leaders.

Which of the statements given above is/are
incorrect?

(a) 1and3 only

(b) 2and3 only

(¢) 2only

(d 1,2,and3

The first-ever famine commission in India
was established under:

(a) Lord Dalhousie

(b) Lord Ripon

(c) Lord Curzon

(d) Lord Lytton

Gandhi-Smuts Agreement was signed between

Gandhi and General Smuts to address which

of the following issues?

(a) Reduction of oppressive revenue taxes in
the Champaran region.

(b) Repeal of specific discriminatory laws in
South Africa.

(c) Abolition of unfair land revenue policies
in Kheda.

(d) Establishment of rights for Indian traders
under the British Empire

29.

30.

31.

32.

33.

(8-A)

qNd Bel Sed (1942) % <nH, fod

AT 9§ “FAW w1 IR FHTT T AqT?

(a) @9 7

(b) M Ufes

(c) e dfeRM gSIaR

(d) TUTad q9 grfes

RS srfafrEm (1930) 9Rd & gmEifee

gl & fae™ ¥ T Hewqul fadas T 59

stfafam 1 3TTF FA on?

(a) ot foemg 1 S|

(b) Taeren qAfdare &1 94 w9

(c) &l g R gfqaw|

(d) STETIA hl S|

qa § gfties iR fergm il (WPP) & Hay

T frafafed woi | foar Fifa:

1. 38 1925 ® ooy iR foaei & <=
At foari 1 dgEn 3 & fag
TTfyd feram = e

2. IE YRAE T w09 9 fwed €@ i
off|

3. WA o 3R YOTHR STEES T YHW
&

S § 9 SE-G/8 HUE T 2787

(a) wad | 3R 3

(b) et 2 3R 3

(c) =daa 2

(@ 1,2 #R3

ARA § TEall SThlal 3TN fohden dgd wenfua

ferar T en?

(a) e RS

(b) wre o=

(c) S i

(d) e fored

e -y wwEhar et SR Sel WeE %

o= fve I8 # ga & & o fw=n T an?

(a) TURUT &F H HSR TSE HU Hl HH
FHE

(b) =feur eTRIeR § foRy SRWEqUl HIA I
IRRSECTEH

() T H =gyl gff e Aifd w
S|

(d) fofewr T & ded 9RdE =aiEl &
AR T T
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Assertion (A): The Indigo Revolt (1859-
60) was one of the first organized peasant
uprisings in India.

Reason (R): The peasants were exploited
by European planters who forced them to
cultivate indigo under oppressive terms.

Options:

(a) BothAandR are true, and R is the correct
explanation of A.

(b) Both A and R are true, but R is not the
correct explanation of A.

(c) Aistrue, but R is false.

(d) Ais false, but R is true.

Who among the following wrote the book
“India Divided”?

(a) Jawaharlal Nehru

(b) C. Rajagopalachari

(¢) Lala Lajpat Rai

(d) Rajendra Prasad

Ahrar Movement, which emerged in pre-

independence India, was primarily associated

with:

(a) Opposing the idea of separate electorates
for Muslims.

(b) Promoting women’s rights and education
in Muslim society.

(¢) Advocating for the formation of Pakistan.

(d) Supporting British policies in princely
states.

Consider the following statements about S.A.

Dange:

1. He was the founder of the Congress
Socialist Party.

2. He authored the pamphlet “Gandhi vs.
Lenin.”

3. He played a key role in All-India Trade
Union Congress (AITUC).

Which of the statements given above is/are
correct?

(a) 1and?2only

(b) 2and3 only

(c) 1and3 only

(d 1,2,and3

34.

35.

36.

37.

(9-A)

HAT (A): o fo=ig (1859-60) Rd ¥ Ugal

Trfed feam oFige 0 9 T ol

qeh (R): frami &1 eiwor =Rt e foramt

g1 foman T, =R 3= gererqul vl & d=d

I & Edt wE & foaw geeR fwa e

IEEIRE

(a) A 3R RIA W, R, A F T
S Tl 2

(b) A R R A GEl B, dfhT R, A &1 w&t
A &l Il

(c) A T, fhd R 7o 2

(d) A 7o €, Afd R T 2

frfafaa 5 9 feaq ‘sfean feares’ gw=

fergt?

3TEYR STRIeH, S Waadl ¥ I8 9Rd ¥ 3I9,

9% 7= &9 9 fead o1 an?

(a) GOl & fau guss fates weal &
foam =1 fatig & 9

(b) Hfew Turst ¥ Afeare & sifmrl 3R
forem =t w@ET 9 9

(c) uIfehsd & f7oT T Feprerd wE Hl

(d) fomda o fafes ifaal @1 a0 & 9

TN M & 9R ¥ faAafafea qea w® faar

HIfer:

1. o HIUY GANERl e % GEhs ol

2. S=EA ‘e wEm AdtE" Ame Yehele
ot e

3. I=H sfge WRdE <8 IfEa i
(AITUC) # #ew@qul sffent fE off|

T 9 FH QU8 He HEl 28?2

(a) ae 1 3R 2

(b) a2 3R 3

(c) wae | 3R 3
(d 1,2 33
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Which of the following sectors is not included 38,
in the Index of Eight Core Industries in India?

(a)
(b)
(©)
(d)

Natural gas
Fertilizers
Automobiles
Electricity

Match the following economic concepts with
their definitions:

2. Stagflation B.

3. Disinflation C.

4. Hyperinflation D.

Concept
1. Deflation A.

39.

Definition

slowing down of the
increase in the price
of goods and services
A period of high
inflation coupled with
low growth

Decrease in general
price level

Extremely rapid and
out-of-control  price
increases

Select the correct match:

(a)
(b)
(©)
(d)

1-A, 2-C, 3-B, 4-D
1-C, 2-A, 3-B, 4-D
1-C, 2-B, 3-A, 4-D
1-C, 2-D, 3-B, 4-A

Which of the following is not a component of 4.
India’s Forex Reserves?

(a)
(b)
(c)
(d)

Foreign Currency Assets (FCA)
Gold Reserves

Sovereign Gold Bonds

Special Drawing Rights (SDR)

Consider the following statements about 47,
Marginal Standing Facility (MSF) rate in
India:

1.
2.

It is always higher than the repo rate.

It allows banks to borrow overnight
funds from the RBI against approved
government securities.

It is a tool to manage liquidity mismatches
in the banking system.

Which of the statements given above is/are
incorrect?

(2)
(b)
(©)

1 and 2 only
2 and 3 only
1,2 and 3

(d) None of the above

(10 - A)

frefafgd & 9 ®F-@ 89 9Ra ® 8
Y@ &M & Fa&i®k (Index of Eight Core
Industries) o et & 22

(a) TR T

(b) S

(c) R

(d) fastedt

fafafaa onfeies sTaemomstt &1 IART
gfsreneti | faee:

ST R
1. |t A. TG SR Fened i s rHal
¥ gfg &t wfa o &fdmom
e EERI iR e

2.9 AR B.

TR faepm@ =1 R
3.SEHIa § C. |MH Jod W) H R
firree
4. Fafaws D, Fmal A fud O @R
TREHITA sfElta gfg @l faskey

1 =T HiTT:

(a) 1-A, 2-C, 3-B, 4-D

(b) 1-C, 2-A, 3-B, 4-D

() 1-C, 2-B, 3-A, 4-D

(d) 1-C, 2-D, 3-B, 4-A

frefafes & @ =F 9Ra & fasht g2 Her

(Forex Reserves) &1 fe=ar w&f 22

(a) foceit g1 wREafa=

(b) T HeRr

(c) HeT Tiee di<ed

(d) fomm 30 iR

qRd o wifse wfen wfafed (Marginal

Standing Facility- MSF) R & &R H fa=fafea

HYA R fa=r Sifsu:

1. 9% T gHem W R} 9 e gl 2l

2. I o ®t RBI ¥ Ted TRl gfayfaal
% 8 AR ¥F IUR T St A
M Il 2

3. 7E dfepn yomell W aleral oo Wi
Yafed w1 TH HEH B

I fEu U weAl § 9 HIA-G/A Ted 282

(a) aa | 3R 2

(b) Heet 2 3R 3

(c) 1,2 33

(d) SWe § ¥ FiE Tl
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Assertion (A): India has shifted its focus
toward Capital expenditure in recent budgets.

Reason (R): Capital expenditure leads to

higher growth multipliers compared to

revenue expenditure.

Options:

(a) BothAandR are true, and R is the correct
explanation of A.

(b) Both A and R are true, but R is not the
correct explanation of A.

(c) Adistrue, but R is false.

(d) Ais false, but R is true.

Select the correct option based on the following

statements regarding financial instruments:

1. Treasury Bills are issued by the
government and are considered part of
the money market.

2. Commercial Papers are secured short-
term instruments and are traded in the
money market.

3.  Debentures, are traded in the money
market.

Which of the above statements is/are correct?
(a) 1Only

(b) 1and2 Only

(¢) 2and3 Only

(d 1,2and3

Match the following international indices with
their publishing organizations:

Index Publisher

1. Global A. World Economic
Innovation Forum (WEF)
Index

2. Global Gender B World Bank
Gap Index

3. Logistics C. World Intellectual
Performance Property Organization
Index (WIPO)

4. Global D. Economist Intelligence
Liveability Unit (EIU)
Index

Select the correct match:
(a) 1-D,2-B, 3-C, 4-A
(b) 1-B,2-C,3-D, 4-A
(¢) 1-C,2-A,3-B,4-D
(d) 1-C,2-B, 3-A,4-D

42.

43.

44.

(11 -A)

HIT (A): IRA 7 B@ ® doe W YSQ

=9 (Capital Expenditure) T 91 =4 &fsa

e 71

&RUT (R): S 4T U5 oFF bl ol

¥ 3I=a gfg ol (Growth Multipliers) &M

F 2

IEETRE

(a) A IR R <A W& €, SRR, A 1 T
TR B

(b) AR R Tl W&l €, @i R, A 1 @&l
TRt e R

(c) AT 2, wfeh R T 2

(d) ATeE €, odfrd R 9E B

frafafed oAl & g W Wl faskeq @1

ERERCIIE LS

1. 5 foet @R g SR fopg o € e
¥ aSR (Money Market) &1 e AH
ST €1

2. oo oo g sTeeRiferd @TEH ©
AR 39 o9 SR W HRER fHar s
2

3. fed=od, o9 9o H SRER ° IUAM
T W )

T @ BT/ FUA TE 2E?

(a) Had 1

(b) e 1 3R 2

(c) ad 2 3R 3

(@ 1,2 33

frefafEd Sqwrsdta gaehishl 1 3Tk YhIeTH

TeemsT & WY fgam wifsa:

YoIhich FEINED

1. TGS OYH  AeE ShHIHE HRA
L (WEF)

2. TelEe S 9 B oee A
ECLat]

3. At C.ace 3eeiagstal qret

WHAG S8 SHESIE (WIPO)

4. A D. &AM 3fasig
foefaferdt e gfTe (EIU)

T e 94:

(a) 1-D, 2-B, 3-C, 4-A

(b) 1-B, 2-C, 3-D, 4-A

(¢) 1-C, 2-A, 3-B, 4-D

(d) 1-C, 2-B, 3-A, 4-D
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Consider the following statements about

Goods and Services Tax (GST):

1. GST is
consumption.

2. Integrated GST (IGST) is collected by
the state where the goods or services are
consumed.

3. Petroleum products are excluded from
the purview of GST.

a destination-based tax on

Which of the statements given above is/are
correct?

(a) 1and?2 only

(b) 2and 3 only

(¢) 1and3 only

(d 1,2,and 3

Consider the following statements regarding

the Directive Principles of State Policy

(DPSPs):

1.  They are non-justiciable in nature.

2. They were borrowed from the Australian
Constitution.

3.  DPSPs override the Fundamental Rights
in case of conflict.

Which of the statements given above is/are
correct?

(a) 1Only

(b) 2 Only

(c) 1and3 Only

(d) 2and 3 Only

Assertion (A): President of India is bound by
the advice of the Council of Ministers.

Reason (R): 39th Amendment to the

Constitution made the advice of the Council

of Ministers binding on the President.

Options:

(a) BothAandR are true, and R is the correct
explanation of A.

(b) Both A and R are true, but R is not the
correct explanation of A.

(c) Aistrue, but R is false.

(d) Ais false, but R is true.

Arrange the following amendments to the

Indian Constitution in chronological order:

1. Abolition of privy purses.

2. Lowering the voting age from 21 to 18
years.

3. Inclusion of the Ninth Schedule.

4. Right to property removed as a
Fundamental Right

45.

46.

47.

48.

(12 -A)

% & "l X (GST) & ar # fa=fafea

HYA W faEr S

1. GST@Yd W 3N Tk TMded L 7|

2. TWahigkd GST (IGST) ¥ I g THhA
frean Srar @ el awgett A gensti
Tud el

3.  ugifead Sl @ GST & TR 9 el
@ T R

TR f£u U woA § § dHE-TA T8 27

(a) wad | 3R 2

(b) a2 3R 3

(c) e 1 3R 3

(@ 1,2 33

T & Hifq feves a & wed # fAfafea

HY R fa=m Fifsu:

1. T8 W-IEETE THd & 2

2. TR oefaa wfaum 9 femn mn em

3. DPSPs, ZUd & fefa o Hifern saferenrd
! eifEd w2

I fEu 7T weAl ¥ 9 HiA-"A GE 2R

(a) Had 1

(b) Had 2

(c) waa 1 3R 3

(d) et 2 3R 3

HIT (A): 9RG & TAfd, AHURER 1 gae

g 99 B 2

HRUT (R): Gfaem & 399 denem 3 gimafeg

H o i Tgufd & fou snegeprdt s fe=

2

IEETRE

(a) A 3R RIA T €, &R, A F1 T
T B

(b) AR RS &t €, AfFT R, A T
TRt el 2

(c) ATE 2, Afhd R 7o 2l

(d) ATeE €, eferd R wE

Ot wfaum § frefafea genes

HHTHR Hafkerd HIfu:

1. Tt g 1 3

2. TA&H i 3 &l 21 ¥ 18 I T *A
FHET

3. Sl gt # guEE

4. Hifas AR | Fufd &1 AR g
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(a) 3-4-1-2
(b) 1-3-2-4
(c) 3-2-1-4
(d) 3-1-4-2

Match the following parliamentary committees
with their functions:

Committee Function

1. Public A.Examines government
Accounts policies and their
Committee implementation

B. Examines the annual
financial accounts of
the government

2. Estimates
Committee

C.Reviews the
performance of public
sector enterprises

3. Committee
on Public
Undertakings

D.Scrutinizes the
expenditure proposed
in the budget

4. Departmental
Standing
Committee

Select the correct code:
(a) 1-A,2-B, 3-D,4-C
(b) 1-B,2-D, 3-C, 4-A
(¢) 1-C,2-A,3-D,4-B
(d) 1-D,2-C, 3-B, 4-A

Which part of the Indian Constitution deals
with the structure and jurisdiction of the
Union Judiciary?

(a) PartV

(b) Part VI

(c) Part VII

(d) Part VIII

Which of the following provisions can be

amended by a simple majority of Parliament?

1. Creation of new states.

2.  Abolition or creation of Legislative
Councils in states.

3. Representation of states in the Rajya
Sabha.

4.  Delimitation of constituencies.

Select the correct answer using the code
below:

(a) 1and?2only

(b) 2,3, and 4 only

(¢) 1,2,and 4 only

(d 1,2,3,and 4

49.

50.

51.

(13 -A)

(a) 3-4-1-2

(b) 1-3-2-4

(c) 3-2-1-4

(d) 3-1-4-2

frafafea gada afafaal &1 396 & &
Y e &I

wifafa RS

1. @ @ A TE Fifqat 3t

wfafa 3T HEATEIT FI
EICACTGI

2. 3T 9fafd  B. ¥R & Al fadra
@l %1 SE wE ©

3. TSR C. o &3 & 3ol

3UHy Gfafd % WRIM hT qHE
EXGI

4. faart= DS § g&arfad =3

Tt gfgfa H = w

TEl HIS HT TI7 HIWC:

(a) 1-A, 2-B, 3-D, 4-C

(b) 1-B, 2-D, 3-C, 4-A

(c) 1-C, 2-A, 3-D, 4-B

(d) 1-D, 2-C, 3-B, 4-A

AT WITET 1 I | 9 G =i

T G SR ARHR e o Heifed 8?2

(@) 9V

(b) W VI

(c) W VII

(d) W VIII

frefafed & 9 = 9 ToOuE 998 % FERo

agnd 9 Heifed feran s gk €2

1. 99 T 1 fmion

2. T A foum ufoRl w1 S| oW
fetoT)

3. TSA @ ToEdn | gfatafaal

4. Trataq &= &1 W]

= fST 7T S &1 ST Fh &l W A

(a) ae | 3R 2

(b) a2, 3 3R 4

(c) a1, 2 3R 4

(d 1,2,3 34
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52. Under which article of the Indian Constitution
can the Parliament make laws on subjects in
the State List in national interest?

(a) Article 248
(b) Article 249
(c) Article 250
(d) Article 256

53. Consider the following statements regarding
the Attorney General of India:

1. Attorney General is the highest law
officer of India.

2. Attorney General has the right to
participate in the proceedings of
Parliament but not to vote.

3.  Attorney General is considered a member
of the Union Cabinet.

Which of the statements given above is/are

correct?

(a) 1and3 only

(b) 2and 3 only

(c) 3only

(d) 1and?2only

54. Which Lok Sabha session passed the first
National Emergency in India?

(a) Third Lok Sabha
(b) Fourth Lok Sabha
(c) Fifth Lok Sabha
(d) Sixth Lok Sabha

55. Consider the following statements regarding
the National Human Rights Commission
(NHRC):

1. NHRC was established wunder the
Protection of Human Rights Act, 1993

2. The first chairperson of the NHRC was a
former Chief Justice of India.

3. Justice M.N. Venkatachaliah served as
the first chairperson of the NHRC.

Which of the statements given above is/are

correct?

(a) 1and3 only

(b) 1and?2 only

(c) 2and3

(d) 3only

[A-111-24] 030812

52.

53.

54.

5S.

(14 - A)

IR wfagm & foa s=s] & ded 99

T feqd T g & fawe W e 9

TRl 72

(a) STT=] 248

(b) 3TT=] 249

(c) TR 250

(d) 3TT=] 256

O HETeeea & aR o frfafea st

R fg=r Hifau:

1. YeIfYee vIRd & Hdied & AR
B T

2. TRIHEE & G & HEGR! H AN
W T AR Tl ®, Afehd e &
F1 ATHHR & B

3. HElYes ® Ho ®idgde &1 9§ Al
e 21

IR fau T wuA F § HA-"/A w1 2R

(a) e 1 3R 3

(b) wad 2 3R 3

(c) =aa 3

(d) e 1 3R 2

ORd B Ygel U STUIdehldl fhd eliemds

T3 gN U feham wwE en?

(a) e ARG

(b) =eft dRE

(c) di=ell rRgl

(d) B dARET

T AFEfE®R A=A (NHRC) & R H

fr=fafaa oAt w fa=m swifsu:

1. NHRC ol T HEMHRR  E&0
sifafTad, 1993 & d8d &1 T8 o

2. NHRC &% Ugd 31298 9Rd & T d
& ey o

3. =i M.N. d@eseia 4 NHRC &
Teol AL & ®Y B g1 YSH i o

IR U U wuA § @ SH-"/4 G 272

(a) e 1 3R 3

(b) wad 1 3R 2

(c) 2 3R 3

(d) =ad 3
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constitutional
corresponding

Match  the
amendments
provisions:

following
with  their
Amendment Provision
Act

A. 52nd
B. 56th

Granted statehood to Goa
Lowered the voting age to

18 years
Anti-defection law

[\ T

C. 58th
D. 61st

W

Provided for authoritative
Hindi texts of the
Constitution

Select the correct code:

(a) A-4,B-1,C-2,D-3

(b) A-3,B-4,C-1,D-2

(¢) A-2,B-3,C-1,D-4

(d) A-3,B-1,C-4,D-2

&

Which of'the following provisions in the Indian

Constitution are part of federal features?

1. A written Constitution.

2. Dual polity consisting of the Union and
the States.

3. Single citizenship.

4. Distribution of legislative powers
between the Centre and the States.

Select the correct code:

(a) 1,2,and 4 only

(b) 1,3, and 4 only

(¢) 2and4 only

(d) All of the above

Which of the following pairs regarding
parliamentary  procedures is  correctly
matched?
Parliamentary
Term
1. Guillotine

Meaning

Ending debate and
voting on a bill

Bringing an immediate
end to all discussion
Time immediately
following Question Hour
Motion to censure the
Speaker

2. Closure
3. Zero Hour

4. Adjournment
Motion

Select the correct code:
(a) 1,2 and4 only
(b) 1and3 only

(¢) 2and4 only

(d) All of the above

56.

57.

58.

(15 - A)

frefafed Gaetfer Geieml &1 Sa% Hetid

e 9 faem sife:
RRIEE] PICEIE]

A. 5291 GIMEE 1. MET Bl [T HT o {4
Afafay

B. 569 @eNEH 2. HAGM 3T 18 dY i i
sAfafag

C. 581 HeeA 3. T-feher™ &I
Afafay

D. 6191 GeMeA 4. Gfgue & gt fest
At I3 i LT hi

& ®e M

(a) A-4, B-1, C-2, D-3

(b) A-3, B-4, C-1, D-2

(c) A-2, B-3,C-1, D-4

(d) A-3, B-1,C-4, D2

AR dfaam § frefafaa gaa § 9 SF

g gt faeivaret &1 feeq 872

1. Ut fafga dfauami

2. EH 3R T 1 gaskil TSI @il

3.  Uohd AR

4. &g AN A & o= faerh wfwE= @
oo

& HIe TH:

(a) o 1,2 3N 4

(b) e 1,3 3R 4

(c) hae 2 3R 4

(d) ST g

frefafed eeasn gfwaet & af o &9 9

We Wt ®9 9 ey T 2

TNHAAT I aref

1. firetfes faet W 989 FH HET
3R Ao &

2. FARR T} =T=ien Wl dehte
AT HT

3. SR 3R TR & A a8 H
5

4, 9 FEE TR &Y A wE &
fou  w=E

(a) 1,2 3R 4 ®aa

(b) 1 3R 3 waw

(c) 2 3R 4 Hew

(d) ST g
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Which of the following statements regarding

Constitutional Emergency under Article 356

is correct?

(a) It can only be proclaimed on the
recommendation of the Governor.

(b) The duration of such an emergency
cannot exceed one year.

(c) The President can assume all the powers
of the State Government.

(d) Judicial review is not applicable to the
proclamation of this emergency.

Environment Protection Act, 1986, enacted in
the wake of the Bhopal gas tragedy, provides
for:

1. Protection and improvement of the
environment.

2. Penalties for hazardous discharges into
the environment.

3. Coordination between the central and
state governments for environmental
protection.

4.  Establishment of the National Green
Tribunal (NGT).

Select the correct code:
(a) 1and?2 only

(b) 1,2,and 3 only
(¢) 2,3,and 4 only
(d) All of the above

Which of the following rivers flow into the
Arctic Ocean?

(a) Amur

(b) Volga

(c) Ob

(d) Don

Which of the following factors best explains

why the Atacama Desert is one of the driest

places on Earth?

(a) TItislocated in a rain shadow region of the
Andes Mountains.

(b) It lies along the path of the Beneguela
Current.

(c) It is located near the equator, where dry
winds prevail.

(d) It is isolated from oceanic moisture due
to its high altitude.

59.

60.

61.

62.

(16 — A)

AToIT 356 & T8 WAL ATUTTRTA & o
¥ frefafed 4 § ®H 91 FoF ¥l 27

(a) 3H Had T hi FgEREr W =ifa
EEIBS =Cor i

(b) UH AR i @Y Th ad § Ao
T & "l 2l

(c) TZufd ToF TR i It wifeaail o
T TWhd 2

(d) 39 STUGERIA i ENEOT R ATk HHIeT
@ Tl e 2

JafeRoT TR Stfufem, 1986 1 A TG

FES o 18 AN feman e, iR guw et

¥ ¥ forae waem =

1. wEfeRo &Y 8 S guR|

2. TEERY H @A UguU & fau 3e)

3. qgfeRT wWeew & Ty edE SR T
TEHR & d9 qHd|

4, U BRa =ArEnfEeRTor (NGT) i €eIaHT|

TE HE TH:

(a) e 1 3R 2

(b) e 1, 2 3R 3

(c) ad 2,3 3N 4

(d) I aedt

frefafed o 9 =F ot Jfeat sewfes TR

¥ Fedt 72

(a) T

(b) ar&m

(c) o

(d) =M

frefafad § @ ®F W w6 god 38 @i

Y 78 gHe € o s A gedt &

Tl ok T W W TH A e

(a) o€ TS waal & oo wEmes o feed ?

(b) TE AT ¥R F T W feord B

(c) T& AL @l & U fed B, Wi I
TAd g B 2

(d) T8 AT I=9 2R H HRO TSR
T 9 e B
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Consider the following mountain ranges and
their locations:

Mountain Range Location
1. Zagros Mountains [ran
2. Drakensberg Mountains South Africa
3. Carpathian Mountains  Eastern Europe
4. Andes Mountains North Africa

Which of the pairs is/are correctly matched?
(a) 1and3 only

(b) 2and4 only

(¢) 1,2,and 3 only

(d) All of the above

Which of the following sets of countries
entirely or partially lie on the equator?
(a) Ecuador, Venezuela, Gabon, Uganda
(b) Democratic Republic of Congo, Kenya,
Colombia, Indonesia
(c) Brazil, Maldives, Somalia, Papua New
Guinea
(d) Gabon, Democratic Republic of Congo,
Philippines, Malaysia
Consider the following pairs of straits and the
region:
Strait
1. Sunda Strait
2. Dover Strait

Region
Between Java and Sumatra

Between Denmark and
Sweden

Between Baffin island and
Greenland

3. Davis Strait

Which of the pairs is/are correctly matched?
(a) 1and?2only

(b) 1and3 only

(c) 2and3 only

(d 1,2,and3

Match the following cities with the rivers they
are located on:

City River
1. Vienna A. Danube
2. Paris B. Seine
3. Prague C. Tiber
4. Rome D. Vltava

Select the correct match:
(a) 1-A,2-B, 3-D, 4-C
(b) 1-B,2-D, 3-A, 4-C
(¢) 1-D,2-A,3-C,4-B
(d) 1-A,2-C,3-B,4-D

63.

64.

65.

66.

(17 - A)

frefafaa uda gaomet @R ST W W
fo=m =ifsa:

Tdd g@en @
1. Y ged EXE]
2. ShEeat g zfeqor STRIRT
3. HRUYEA wdd gel U
4, TSN Y&d IW AHISH
HF /4 g wE ®9 @ fyery o e
(a) e 1 3R 3
(b) et 2 3R 4
(c) wael 1,2 3R 3
(d) ST aet
frefafaa 2o & el & @ %4 9 3w @
TWE © A Ak T G qued W W feom €2
(a) TSR, SHS[UA, TTeM, ISl
(b) I TURRA, &1, HiGATSAT, SSHIET
(c) ISiel, AR, |t 9rge =
(d) TEE, wW TR, fEedE, qatiEn
frefafed Seeaeqe 3R ST &5 & g

R foar sifeq:
JTSHRHE &

1. g el SR AT &% o
SASHEHE

2. TR ST SR ed &
SASHEHE Elc)

3. cfam Afth g9 @R ele
SASHERE & &

T ¥ +H /Y i 9E w9 9 fHemy T ?

(a) e 1 3R 2

(b) waa | 3R 3

(c) had 2 3R 3

(d 1,2 33

frafafea el &1 39 feug ifeal & @y

e
I REl

1. ferrm A. S99

2. ufm B. ¥

3. UM C. TEH

4, 1MW D. S

W fHam =4:

(a) 1-A, 2-B, 3-D, 4-C
(b) 1-B, 2-D, 3-A, 4-C
(c) 1-D, 2-A, 3-C, 4-B
(d) 1-A, 2-C, 3-B, 4-D
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Arrange the following islands in order of their
size (largest to smallest):
1.  Greenland

2. New Guinea

3. Madagascar

4.  Borneo

Options:

(a) 1-2-34

(b) 1-3-4-2

(c) 2-1-34

(d) 1-2-4-3

Which of the following countries share a
border with both the Atlantic Ocean and the
Mediterranean Sea?

(a) Morocco and Algeria

(b) Spain and Morocco

(c) Portugal and Tunisia

(d) Algeria and Tunisia

Which of the following countries share a
border with the Caspian Sea?

1. Kazakhstan
2. Turkmenistan
3.  Uzbekistan
4. Russia

5. Azerbaijan
6. Armenia
Options:

(a) 1,2,4,and 5 only
(b) 1,2,3,and 5 only
(c) 1,2,4,5,and 6 only
(d) 1,2,3,4,and 5 only

Match the following deserts with their
corresponding locations:

Desert Region
A. Atacama 1. South Africa
B. Kalahari 2. South America
C. Gobi 3. Central Asia

D. Great Victoria 4. Australia

Select the correct code:
(a) A-1,B-2,C-4,D-3
(b) A-2,B-1,C-3,D-4
(c) A-2,B-1,C-4,D-3
(d) A-3,B-2,C-4,D-1

67.

68.

69.

70.

(18 — A)

freafafaa gl &t 39 TFR & F9 9 (Tad
TS W BIR) & AEY HAMAT HITWT;

1. Trels

= firt

TSHTHT

At

D

faaea:

(a) 1-2-3-4

(b) 1-3-4-2

(c) 2-1-3-4

(d) 1-2-4-3

frefafed 2o & 9 %9 9 29 sEAfew
TEIR 3R AT GUR & 9 91 9ren
872

(a) HREeR! R TS

(b) T SR G

(c) WHME SR S[AfeEn

(d) Tostiftan iR e

Trefafad <3 4 § oM 9 29 & 99 HirerEs

R % Y G 22
1. HeEEN

2. geufH

3. ISR

4. =9

5. TSNS

6. SR
IEETR R

(@) 1,2,4, 3R 5 ®ad
(b) 1,2, 3, 3R 5 s
(€) 1,2,4,5, 3R 6 Haw
(d) 1,2,3,4, 3R 5 Had

fr=fafad ram &1 39 defad T 9

faem wife:

= as
A. M 1. f&qur ST
B. wERR! 2. gfeqor STt
C. e 3. g TRmn
D. e fawifen 4. siefemn
& HIe TH:

(a) A-1, B-2, C-4, D-3
(b) A-2, B-1, C-3, D-4
() A-2, B-1, C-4, D-3
(d) A-3, B-2, C-4, D-1
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Match the following aluminium companies 71,
with the locations of their major production
facilities:
Company
A.NALCO

B. BALCO

C. HINDALCO
D. MALCO

Factory Location
1. Mettur

2. Angul

3. Korba

4. Renukoot

Select the correct code:
(a) A-1,B-2,C-4,D-3
(b) A-4,B-1,C-2,D-3
(¢) A-3,B-4,C-1,D-2
(d) A-2,B-3,C-4,D-1 72.

Araku Valley, a popular hill station known for
its coffee plantations, is located in which of
the following states of India?

(a) Tamil Nadu

(b) Andhra Pradesh

(¢) Kerala

(d) Karnataka =
Which of the following rivers flow into the .

Bay of Bengal?
1. Pennar

2. Periyar

3. Palar

4.  Ponniyar

Options:

(a) 1and4 only
(b) 2,3 and4 only
(¢) 1,3 and 4 only
(d 1,2,3,and 4

Regur soil is predominantly found in which of =4
the following regions of India?

(a) Deccan Plateau

(b) Brahmaputra Valley

(c) Thar Desert

(d) Himalayan foothills

Match the following agricultural terms with

their respective fields of study or practice: 7s.

Field of Study/Practice
A. Rearing of honeybees

B. Study of fruits

Term

1. Olericulture
2. Viticulture
3. Pomology  C. Study of vegetables

4. Apiculture  D. Study of wine and grape

production

(19 - A)

frefafes tegdifem FufE #t s1w 7@
IR I3 & T & WY e

HUAT TWIT W
A. NALCO 1. "X
B. BALCO 2. A
C. HINDALCO 3. &R
D. MALCO 4. YupRe
el ®iE TH:

(@ A-1, B-2, C-4, D-3

(b) A-4, B-1, C-2, D-3

(c) A-3, B4, C-1, D2

(d A-2, B-3, C-4, D-1

3o, T, Sl 39 HiT! 9 & e gfas
TH TRl WIF ¢, 9% 9Rd & 9 g o
frorg 22

(a) dfHETg

(b) 3T =W

(c) =

(d) wAeH

frefafaa & @ oF & i@l sTa w1 @
o et €2

1. TR

2. UfER

3. TR

4. iR

faeea:

(a) wael 1 3R 4

(b) waet 2, 3 3R 4

(c) a1, 3 3R 4

(d 1,2,3 34

R gt Ora & Fretfatod &9 § 9 fre
T €9 ¥ TE S 7?2

(a) <RI USR

(b) TR =

(c) ¥R HEEIA

(d) femrer™ st der@el
frafafed Ffv v &1 37 gafaa M
T AE A W e

g SRR & /3TferahTiEar
1. Siafeesk A, AYASE dod
2. oo B. & 31EAIA
3. st C. dfssai =1 e
4. TufaweR D. YA 3R AR e
H A
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Options:

(a) 1-A,2-B,3-C,4-D
(b) 1-C,2-A, 3-B,4-D
(¢) 1-C,2-D,3-B, 4-A
(d) 1-B,2-C,3-D, 4-A

Arrange the following passes in India from
west to east:

1. Khardung La

2. NathuLa

3. Lipulekh Pass

4. BomdiLa

Options:

(a) 1-4-3-2
(b) 1-2-3-4
(c) 1-3-24
(d) 1-3-4-2

Duduma Falls, one of the highest waterfalls
in India, is located on which of the following
rivers?

(a) Godavari River

(b) Machkund River

(¢) Krishna River

(d) Subarnarekha River

Match the following research institutes in
India with their respective locations:

Location

A. Vishakhapatnam

Research Institute

1. National Institute
of Ocean
Technology

2. Indian Institute of B. Dehradun
Petroleum

3. Central Food
Technological
Research Institute

4. Central Marine
Fisheries
Research Institute

C. Mysuru

D. Kochi

Which of the pairs are correctly matched?
(a) 1and3 only

(b) 1,3, and 4 only

(¢) 3 and4only

(d) 2,3 and4 only

76.

/7

78.

(20 - A)

Taereu:

(@) 1-A, 2-B, 3-C, 4-D

(b) 1-C, 2-A, 3-B, 4-D

(¢) 1-C, 2-D, 3-B, 4-A

(d) 1-B, 2-C, 3-D, 4-A

frfafaa o=l & 9Ra o afvem 9 9@ #i
3R =afeed &

QRET o

SIR ]

fegere o

EIEEIG]]

Taereu:

(@) 1-4-3-2

(b) 1-2-3-4

(c) 1-3-2-4

(d) 1-3-4-2.

IIAT TAY, S 9Rd & HIG A STATIar
¥ 9w 8, 98 Frefafed § 9 g 98 W
feera @2

(a) TiErEd T

(b) RS T

(c) Fom T

(d) Foir T

frafafea g Seadl &1 9Rd H 3T
Hafed Toml 9 faem sifs:

Sl

e W T

1. T&E 995 A. fomamaT=
TrEnfiTeRT G

2. YR Uiferem B. @0
e

3. g4 wE gl C. R
STHEE eI

4. DIE GE HASST D, it

A ATHIE e
T 9 ®F 9 e wEl w9 9 fqemg T E?
(a) e 1 3R 3
(b) a1, 3 3R 4
(c) e 3 3R 4
(d) a2, 3 3R 4
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Arrange the following mountain ranges in 79,
India from north to south:

1.  Zanskar Range

2. Karakoram Range

3. Pir Panjal Range

4.  Vindhya Range

Options:

(a) 2-1-3-4
(b) 1-2-4-3
(c) 3-1-24
(d) 2-3-1-4

Match the following thermal power plants  80.
with their locations:
Thermal Power Plant State
A. Madhya Pradesh
B. Odisha
C. Chhattisgarh
D. Tamil Nadu

1. Singrauli
2. Talcher
3. Korba

4. Neyveli

Select the correct match:
(a) 1-A,2-B,3-C,4-D
(b) 1-B,2-C, 3-D, 4-A
(¢) 1-A,2-C,3-B,4-D
(d) 1-C,2-D, 3-A, 4-B 81.

Which of the following devices is based on

the principle of total internal reflection?

(a) Telescope

(b) Optical fiber

(c) Microscope

(d) Spectrometer 82.

Arrange the following electromagnetic waves
in the order of increasing wavelength:

1. X-rays

2. Ultraviolet

3. Microwaves

4.  Infrared

Options:

(a) 1-4-2-3

(b) 2-1-4-3

(c) 1-2-3-4

(d) 1-2-4-3 83.

Which of the following laws explains why
planes are designed with swept-back wings?
(a) Archimedes’ Principle

(b) Newton’s First Law

(c) Bernoulli’s Principle

(d) Pascal’s Law

(21 -A)

ard H frefafed uvda et w3 9
2T qeh et ity

1. e S

2. &M W

3. R 99 S

4, foem &

IEEISE

(a) 2-1-3-4

(b) 1-2-4-3

(c) 3-1-2-4

(d) 2-3-1-4

frfafea ofdd 9eR wiiey w1 396 TH 9
ﬁ?flﬁﬁlﬁ'ﬁrl'q:

g e’ Wi ELE)

1. fHwe A. T T
2. TER B. 3™

3. HRa C. BUaTE
4. o D. afHag
Tt fHam =4

(a) 1-A, 2-B, 3-C, 4-D

(b) 1-B, 2-C, 3-D, 4-A

(c) 1-A, 2-C, 3-B, 4-D

(d) 1-C, 2-D, 3-A, 4-B

frefefaad & @ A @1 SuHor qoi srafe
e & Tagia W enenia €2

(a) eIl

(b) Afedha R

(c) Hemexit

(d) wHeRIHIR

frefafes fogagasa @0 # @89 BQ
TR & %A § SHafeYd HIfST;

1.  X-foof

2. ST (UV)

3. gaHAa

4, THNE

faerea:

(a) 1-4-2-3

(b) 2-1-4-3

(c) 1-2-3-4

(d) 1-2-4-3

frefefad § 9 &9 91 SrE 98 gHena € %
foamt &t 91 =t 3R 42 gU T@l & @y =
fesed foran <rar 22

(a) oTfRiHSS &1 fagid

(b) =T w1 Tga f7IH

(c) e = Tagid

(d) ur=Ra &1 fagia
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What type of image is formed by a concave
mirror when the object is placed between the
focus and the pole of the mirror?

(a) Real, inverted, and magnified.

(b) Virtual, erect, and magnified.

(c) Virtual, erect, and diminished.

(d) Real, erect, and diminished.

Match the following quantities with their SI
units:

Quantity ST Unit
1. Capacitance A. Ohm
2. Magnetic Field Strength ~ B. Farad
3. Electrical Resistance C. Weber
4. Magnetic Flux D. Tesla

Select the correct match:
(a) 1-B,2-D, 3-A,4-C
(b) 1-A,2-B, 3-D, 4-C
(¢) 1-C,2-A,3-B,4-D
(d) 1-D,2-C,3-A,4-B

Who is known as the “Father of the Hydrogen
Bomb™?

(a) Edward Teller

(b) Robert Oppenheimer

(c) Enrico Fermi

(d) Albert Einstein

What happens to the weight of a person
standing in a lift when the lift is accelerating
downwards?

(a) Apparent weight increases.

(b) Apparent weight decreases.

(c) Apparent weight becomes zero.

(d) Apparent weight remains the same.

Which of the following gases is commonly
known as “laughing gas™?

(a) Nitric oxide

(b) Nitrous oxide

(c) Nitrogen Dioxide

(d) Methane

Match the following chemical compounds
with their common uses:

Compound Use

A. Fertilizer

B. Battery acid

C. Antacid

D. Cement industry

1. Sodium bicarbonate
2. Calcium carbonate

3. Ammonium nitrate
4. Sulfuric acid

84.

8S.

86.

87.

88.

89.

(22 - A)

V9 qE H U B HHE AR WA F A
T Sl ®, d Sfadel <90 gR %A ° YER
1 Bfe w7 2?2

(a) &g, Soidl, 3R o@ gl

(b) wredfeh, et iR =& g2

(c) hTedreh, Hel, SR sl

(d) ordafersh, e, R sl

freafafaa wEnet &1 39 T THEd o e

LI} SI gt
1. =i A. 3
2. JawE & ufe B, WiE
3. foga wfaww C. I
4, JIwE T D. %W
e fHam T

(a) 1-B, 2-D, 3-A, 4-C

(b) 1-A, 2-B, 3-D, 4-C

(¢) 1-C, 2-A, 3-B, 4-D

(d 1-D, 2-C, 3-A, 4-B

‘grEgioH 99 & fyar’ & w9 H fHQ S Sman
2?2

(a) TeaE <R

(b) T SAUTRIER

(c) TRl wHt

(d) TR AREH

Afg fode 9 &1 AR ©ROT 9 T W B Al
faw ¥ @we =afaq &1 a9 F1 Bm?

(a) Y I S Ul

(b) S IS T ST

(c) Uehe TS I B S

(d) Yehe ISF THE &

frefafed & 9 =@ & T ‘eH W oW
®q H S S B2

(a) -Efeh siEe

(b) ELH STTATES

(c) FEISH TS

(d) e

frefafed ot Aifen & 396 9=
sy 9 faeg:

iR T
1. difeayq dEdEHe A, Sa&
2. hfeeEy wEe B. 928 W 37
3. SHIfEm A C. tafas
4. HeHfE A D. diHe 3=
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Select the correct match:
(a) 1-A,2-B,3-C,4-D
(b) 1-D,2-A, 3-B, 4-C
(¢) 1-C,2-B,3-A,4-D
(d) 1-C,2-D, 3-A,4-B

90. Which of the following is used as a catalyst in
the Haber process for ammonia synthesis?
(a) Platinum
(b) TIron
(c¢) Nickel
(d) Cobalt
91. Which of the following is used as synthetic
rubber?
(a) Polyethylene
(b) Neoprene
(c) Polystyrene
(d) Teflon
92. Which of the following is the heaviest
naturally occurring metal?
(a) Uranium
(b) Chromium
(¢) Vanadium
(d) Platinum
93.  Which of the following diseases is caused by
a protozoan parasite?
(a) Tuberculosis
(b) Malaria
(¢) Influenza
(d) Dengue
94. Which of the following structures in the
human body is responsible for regulating
body temperature?
(a) Cerebrum
(b) Medulla oblongata
(c) Hypothalamus
(d) Pituitary gland
95. Match the following plant groups with their
distinguishing characteristics:
Plant Group Characteristic
1. Bryophytes A. Vascular tissue
present, spores
produced
2. Pteridophytes B. Lack vascular
tissue, gametophyte
dominant
3. Gymnosperms  C. Naked seeds
4. Angiosperms D. Seeds enclosed
within fruits
[A-11l-24] 030812

90.

91.

92.

93.

94.

9s.

(23 -A)

& e 9+

(a) 1-A, 2-B, 3-C, 4-D

(b) 1-D, 2-A, 3-B, 4-C

(¢) 1-C, 2-B, 3-A, 4-D

(d) 1-C, 2-D, 3-A, 4-B

frefafed & 9 g Saw ufwar A smifwen
Ty & fU SARE & ®Y H ST R
ST B2

(a) wifem

(b) drer

(c) Trwa

(d) HaTee

frefafed & 9 = W g fHofes @ =
w9 § ITAN TR @ §?

(a) Uiciueie

(b) Frfi=

(c) Ui

(d) ZwE

frefafad & 9 o9 91 wnwifas 9 9 3=
B aTen Wed Wi g 22

(a) T

(b) HIfFa™

(c) dIteam

(d) wiferm

frefafed & € 9 @ O & giesieTE
TLSTEt gy eIt 872

(a) qufse

(b) wafEn

(©) W@‘"

@ =7

frefafad & 9 799 TR # wE S E§EE
?T?Wﬁﬁ#ﬁﬁmﬁa%mﬁmﬁm
?

(d) fy=ed oy
frefafaa die el &1 s fafire @ 9
e

urer weyuT

1. JE%EE A RS Hdh
i, sfier] Searfed

2. WREMEE B. 9@8® % ol A9ME,
THIAHTES FEH

3. o= C. =7 &t

4, UfSEerd D, wa & i@ Gerd
EIS|
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Select the correct match:

(a) 1-B,2-A,3-C,4-D

(b) 1-A,2-B,3-D,4-C

(¢) 1-D,2-C,3-B,4-A

(d) 1-C,2-D, 3-A, 4-B

Which hormone regulates the concentration
of calcium in the blood?

(a) Thyroxine

(b) Insulin

(c) Parathyroid hormone

(d) Cortisol

Match the following vitamins with their
chemical names:

Vitamin Chemical Name
1. Vitamin B3
2. Vitamin B6

3. Vitamin B7

A. Pyridoxine
B. Niacin
C. Biotin

Select the correct match:
(a) 1-C,2-B,3-A
(b) 1-B,2-A,3-C
(c) 1-A,2-C,3-B
(d) 1-C,2-A,3-B

Which enzyme is responsible for unzipping
the DNA double helix during replication?

(a) DNA polymerase

(b) RNA primase

(c) Helicase

(d) Ligase

Match the following types of RNA with their
primary functions:

Type of RNA Function
1. mRNA A. Brings amino acids to
ribosomes
2. tRNA B. Transfers genetic
information
3. rRNA C. Forms the structure of

ribosomes

Select the correct match:
(a) 1-B,2-A,3-C
(b) 1-A,2-C,3-B
(¢) 1-C,2-B,3-A
(d) 1-A,2-B,3-C

96.

97.

98.

99.

(24 - A)

& e 9+

(a) 1-B, 2-A, 3-C, 4-D
(b) 1-A, 2-B, 3-D, 4-C
() 1-D, 2-C, 3-B, 4-A
(d) 1-C, 2-D, 3-A, 4-B
frefafaa & @ =F @1 gH@F W@ ¥ wfesay
1 Gigar i FEE s 82
(a) TR

(b) zgfem

(c) TNLPRITE BHHA

(d) wifdE

~

freafafea faerfaal = 7% TaEfHs 9™ &

1y grferd shifera:
faetfim

1. fgafi= B3

2. fgafd= B6

3. faarf® = B7

wal e ?fl

(a) 1-C, 2-B, 3-A

(b) 1-B, 2-A, 3-C

(c) 1-A, 2-C, 3-B

(d) 1-C, 2-A, 3-B

frfafga & @ ®F W USEA gRE @

M ST S9d 2feied i @ied & o

R @7

(a) ST diferms

(b) HRTCTT HEH

(c) wfcrnst

(d) e

frfafad geR & SIRTAT &1 37 T @ Hal

o e

ANTAT T YR g

3

1. mRNA A. ST STl
TAEH d Al

2. tRNA B. ST SRl &
T

3. 1RNA C. TeaEdl s gLe
R

Tt fHam =4

(a) 1-B, 2-A, 3-C
(b) 1-A, 2-C, 3-B
(c) 1-C, 2-B, 3-A
(d) 1-A, 2-B, 3-C
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100. Which enzyme is responsible for converting

101.

102.

103.

[A-111-24] 030812

glucose to ethanol in fermentation?
(a) Amylase

(b) Zymase

(c) Invertase

(d) Maltase

Match List-I with List-II and select the correct
answer using the code given below.

List I (Fair) List II (Location)
A. Kampil Fair 1. Kasganj
B. Bateshwar Fair 2. Barabanki
C. Deva Mela 3. Agra
D. Ganga Mahotsav 4. Varanasi
Code

A B CD
(a 2 1 3 4
b) 1 3 2 4
(c) 2 3 41
d 1 2 3 4

Match List-I with List-II and select the correct
answer using the code given below.

List I (Music)
A. Khayal 1.

List II (Description)

Performed by male only

B. Thumri 2. Founded by Amir
Khusro

C. Ghazal 3. Originated in the court
of Nawab Wajid Ali
Shah

D. Dhrupad 4. Mir Taqi Mir, Ghalib

and Daag Popularised it

Code:

A B CD
@ 21 3 4
b)) 1 3 2 4
c) 2 3 41
d 2 3 1 4

Match List-I with List-II and select the correct
answer using the code given below.

List I (Language List 11
/dialect of UP) (Regions)
A. Awadhi 1. Mahoba

B. Brajbhasha 2. Saharanpur
C. Khadi boli 3. Aligarh

D. Bundeli 4. Rae Bareli

100.

101.

102.

103.

(25 - A)

frefafad & @ % @ oy feveam o e
1 A ¥ gfEfiq w % faw R 22

(a) THEGH
(b) STEHS
(c) TIIH
(d) w=H™
gefi-1 i gE-11 9 gofera & iR A= Ky
T e H1 ITAN Hh HEl W Ul
et (Wet) el 11 (T )
A. iU Hel 1. TS
B. ¥R el 2. NSt
C. <=a ¥all 3. N
D. T HEraa 4- FIOTET
%He
ABCD
(@ 21 3 4
b 1 3 2 4
() 2 3 41
d 1 2 3 4
g1 &1 G- 8 goferd L @R 9
T e h1 ITAN Hh HEl I Ul
et I (Eifa) gt 1 faeror)
A, TIE 1. o qesl g1 fohan
S A A
B. 3gm . TR GEU gN TRia
C. "Nd 3. are =ifeig el e
% @R § fawfaa
D. 1 4. HR gt HR, miee
3R I F T ARG
ERIRI]
%S
A BCD
(@ 2 1 3 4
b 1 3 2 4
() 2 3 4 1
d 2 3 1 4

-1 G-I 94 goferd s R = i
T e 1 ITAN Hleh T2l I Ul

il | =it 11
(gt w wrer/Eet) (@)
A. s 1. TEE
B. SIS 2. HEAYX
C. S el 3. 3TeTg
D. gt 4. T
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Code:

A B CD
@ 4 3 21
b) 3 41 2
c) 3 4 21
d 4 2 3 1

Match List-I with List-II and select the correct
answer using the code given below.

List I (Historical List I1
site of UP) (Location)
A. Rumi Darwaza 1. Farrukhabad
B. Kanak Bhawan 2. Jaunpur
C. Mughal Ghat 3. Lucknow
D

Masjid Lal Darwaja 4. Ayodhya Code

A B CD
a 4 3 21
b)) 1 2 3 4
c) 3 4 21
d 3 41 2
Match List-I with List-II and select the correct
answer using the code given below.
List 1 List I1
(district) (Description)
A. Lakhimpur 1. Smallest District
khiri Area-wise
B. Shamli 2. District surrounded on
three sides by Madhya
Pradesh
C. Lalitpur 3. The Only district
sharing boundaries
with Himachal Pradesh
D  Saharanpur 4. Largest District
Area-wise
Code:
A B CD
(a 41 2 3
) 1 4 2 3
c) 41 3 2
d 4 1 2 3

Betwa River flows through which of the
following districts of Uttar Pradesh?

1.  Hamipur

2. Jalaun

3. Lalitpur

Select the correct answer using code given
below

(a) 1and?2only

(b) 2and3 only

(¢) 1and3 only

(d) All of the above

104.

10S.

106.

(26 — A)

q?‘\?_
ABCD
(@ 4 3 2 1
b) 3 41 2
() 3 4 21
(d 4 2 3 1
g1 &1 G-I @ gaferd L &R = g
T T2 & ITAN HEh Tl S| A
et 1 it 11
(ST WA AT (T )
wﬁW) ERCEICIE
A. LGS 1.
B. % 9ad 2. SR
C. TS ®e 3. TS
D. WiERE oA IXENT 4. ST Higd
T
ABCD
(@ 4 3 21
b 1 2 3 4
() 3 4 21
(d 3 41 2
-1 w1 -1 ¥ gAfaa & R = e
T T2 &1 ITAN HEh Tl I FHAY
it 1 (5em) it 11 ( faeroT)
A, AEER G 1. GFwA &I e "
g B e
B. I 2. @1 WE 9w WeW
T for fStem
C. dfaaE 3. fea=d W=y & WY
| 9ren w9
TR el
D. WERAR 4. F%a & feaw 3
Teg g1 foen
.
ABCD
(@ 4 1 2 3
b 1 4 2 3
() 413 2
(d 4 1 2 3
Faar T W WY & fEAfafed § @ few
e @ gt =Edt 22
1. B
2. SN
3. dAfddqe
T fRU T HTe H ST FE FE IW GA
(a) ad | 3R 2
(b) a2 3R 3
(c) waa | 3R 3
(d) SR & |t
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107. Match List-I with List-II and select the correct

108.

109.

110.
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answer using the code given below.

List I (Lake) List II (Location)
A. Bakhira Jheel 1. Muzzafanagar
B Shukrataal 2. Etawah
C. Keetham Lake 3. Sant Kabir Nagar
D. BhakhaJheel 4. Agra
Code

A B CD
(@ 3 1 4 2
b)) 1 3 2 4
c) 3 21 4
d 3 41 2

Match List-I with List-II and select the correct
answer using the code given below.

List I (Mineral) List II (Distric)
A. Ochre 1. Lalitpur
B Andalusite 2. Banda
C. Uranium 3. Sonbhadra
D. Feldspar 4. Jhansi
Code:

A B CD
@ 2 3 1 4
b) 2 3 4 1
c) 3 21 4
d 3 1 2 4

Consider the following Organisations of Uttar

Pradesh

1. Uttar Pradesh Industrial Cooperative
Association Limited (UPICA)

2. Pradeshiya Industrial and Investment
Corporation (PICUP)

3. State Industrial Development Corporation

4. UP Small Industries Corporation Limited

Arrange the above organisations in
chronological order according to their year of
establishment
(@ 1,2,3,4
(b) 1,3, 4,2
(c) 1,2,4,3
(d 2,1,3,4

Which of the following pairs are correctly
matched

City Nickname
1. Chandauli Bowl of Rice
2. Jaunpur Shiraz-e-Hind
3. Hathras Heeng Nagari
4.  Ghaziabad Udyog Nagari

107.

108.

109.

110.

(27 - A)

gefi-1 i gE-11 9 gofera & iR A= Ky

T e 1 ITAN Hleh Tl I Ul
et 1 (3fer) et ()
A, @A 1. R
B. g&d 2. 3@l
C. hied did 3. §d e TR
D. @l i 4. AT
a,g_
ABCD
(@ 31 42
b 1 3 2 4
) 321 4
(d 3 41 2

g1 * G-I 9 gofera Y iR =
T e h1 ITAN Hh HEl I Ul

et 1 (@) it 11 (TS )
A TE 1. dfeaqe
B. TSHrEe 2. @ig
C. I 3. HA9E
D. WHeEER 4. Zdt
En

ABCD
(@ 2 31 4
b 2 3 41
() 3 21 4
(d 312 4

IW =W & FAfafga g | faar =X

1. S YR SAwfieh "Wewnl €y fafthee
(Ffa=h)

2. weIfm  ofEifes w few fm
(g

3. 9 SArfies fasE fm

4, bt oy = frm fatee

STUFH FS i ITh! TATTAT & T & TTAR

(@ 1,2,3,4

®b) 1,3,4,2

() 1,2,4,3

d 2,1,3,4

frefefea o @ = 9 g & gafaq €
IET IUATH

1. =R TEA H FE

2. SR forret -u-feq

3. B g T

4.  TISEER T TR
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Select the correct answer using code given
below

(a) 1,2 and3 only

(b) 2, 3 and 4 only

(c) 13,and4 only

(d) All of the above

Consider the following statements

1.  NOIDA is known as cyber city of UP

2.  Biotechnology Park of UP is located in
Lucknow

3. Aligarh is the only city of UP having a
defence park

Which of the above statements is/are correct?
(a) 1and?2only

(b) 2 only

(c) 1and3 only

(d) All of the above

Consider the following districts of UP
1.  Gautam Buddh Nagar

2. Kanpur Nagar

3. Etawha

4.  Auraiya

Arrange the above Districts in Ascending
order according to their Literacy rate as per
latest available census

(a 1,2,3,4

(b) 2,
(c) 3,
(d 3,
Which of the following tribal communities
can be found in UP?

Tharu

Baiga

Buksa

Khrawa

b

-lk-lkw
»—l\)-lk
N — =

A e

Sahariya

Select the correct answer using code given
below

(a) 1,2,3 and 4 only

(b) 2,3,4andS5 only

(¢) 1,2and3 only

(d) All of the above

Consider the following districts of UP
Chandauli

Chitrkoot

Pilibhit

Sonbhadra

Shrawasti

A e

(28 - A)

111.

112.

113.

114.

T f T HIe H ST FE FET IW GA

(a) ad 1, 2 3N 3

(b) e 2, 3 3N 4

(c) ®adi 13, 3 4

(d) STs gt

frfafea woAf W foar &R

1. Hrer sl gt &t g {92 & €9 § S
e ?

2. S WY &1 N9 YEieh I oeTs o
feorg ©

3. 3Tellg STR WY W1 UHHH YR € el
T I B

ST FU ¥ ¥ ®9 9 98 227
(a) aa | 3R 2

(b) =ad 2

(c) waa 1 3R 3

(d) STgF @l

SW =W & Ffafas e = foer =
1. a9 g5 TR

2. HHY TR

3. @

4. 3

TAAH YA ST o STIR ST el
I ITh WIERAT X & ATER IREN %A H
AT H

@ 1,2,3,4
(b) 2,3,4,1

() 3,4,2,1
d 3,4,1,2
frefafeg & 9 ®F @ SESE TRE 3R
WY § uR S €2
. o®

2. & m

3. I

4, TEl

5. wEiE

o fU T HIe H ST FE FE IW GA
(a) a1, 2,3 3R 4
(b) wod 2,3, 4 35

(c) oe 1, 2 3 3

(d) Swfa @l

IW =W & fAfafega e | fomm =
il

2. TooeRe

3. dierda

4., WA

5. gmEs
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Arrange the Above Districts in descending
order according to their forest cover (per cent

wise)

(a) 1,3,5,4,2
(b) 4,1,2,3,5
(c) 1,4,3,2,5
(d 4,1,3,2,5

Which of the following critically endangered
species can be found in Uttar Pradesh?

1. Indian Softshell Turtle

2. Indian Vulture Species

3. Great Indian Bustard

4.  Four Horned Antelope

Select the correct answer using code given
below:

(a) 1, 3,and 4 only

(b) 2,3, and4 only

(c) 1, 2and 3 only

(d) All of the above

Hastinapur Wildlife Sanctuary spread over
which of the following districts of UP?

1. Meerut

2. Muzaftarnagar

3. Ghaziabad.

Select the correct answer using code given
below:

(a) 1and?2 only

(b) 1,2and3

(¢) 1and3 only

(d) 2only

Consider the following products
1. Milk

2. Inland fish

3. Silk

4.  Processed meat

In which of the above cases is Uttar Pradesh
top producer in the country?

(a) 1and?2 only

(b) 2and3 only

(¢) 3and4only

(d) 1and4 only

Which of the following statements is /are

incorrect?

1. Uttar Pradesh is top Producer and exporter
of electronics and IT products in India

2. UP has highest network of expressways
in the country.

115.

116

117.

118.

(29 - A)

SR TSTeli ol 37k a7 AR & STAR (Ufaer
% ATIR) TONE! HH H Fafeerd &l
(@ 1,3,5 4,2

(b) 4,1,2,3,5
(c) 1,4,3,2,5
(d 4,1,3,2,5

frefafaga & & ®F @ 79 w7 ¥ Gheuw
TIfd ST YRS | Ui St B2

1. YRdE Aieed wgsl

2. ARdlE firg gsifa

3. U2 gfemm awE

4, =R | 9ren gu

= T T HIE F1 STAN HH &l S| A
(a) @ 1, 3, 3T 4

(b) eet 2, 3, R 4

(c) wael 1,2 3R 3

(d) SH= |

R ISid SPRT SW WY &
frefafea o o fre foa o wen gan €2
1. s

2. AERTIR

3. TSEETE.

= fSu 7T wie w1 ST FE e SW I
(a) eed 1 3R 2

(b) 1,2 33

(c) waa | 3R 3

(d) =aa 2

~

mfefad 3aR W foar =
TY
a3 Hel
Wy
4. YHEHd HE
S ¥ ¥ g oMe § SW WY W H
3 e 22
(a) waa | R 2
(b) et 2 3R 3
(c) haet 3 3R 4
(d) et 1 3N 4
frefafed & @ &9 9/ oA Tad o/ ?
1 I YW R H SoeRite 3R e
IR} 1 Y SAEE SR Fafaw @

2. W H THEUEd H1 a9 981 qdsh S
w=_w q 2l

3P

W N =
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Select the correct answer using code given
below:

(a) 1only

(b) 2only

(c) 1and2 both

(d) Neither 1 nor 2

Consider following sources of Receipts of
UP budget

1. State’s Own Tax

2. State’s Own Non-Tax

3.  Share in Central Taxes

4.  Grants-in-aid from Centre

Arrange the above revenue sources in
ascending order:

(a 2,3,1,4

(b) 4,2,3,1

(c) 2,4, 3,1

(d 2,4,1,3
Match List-I with List-1I and select the correct
answer using the code given below.

List1 List 11

(State symbol) (Scientific name)
. Barasingha 1. Grus Antigone

A
B. Palash 2. Saraca Asoca
C. Ashoka 3. Butea Monosperma
D. Crane 4. Rucervus Duvaucelii
Code:
A B CD
a 4 3 21
b)) 2 3 41
c) 3 21 4
d 3 1 2 4
What was the theme of World Nature
Conservation Day 2024?

(a) “Sustainability in Every Cup”

(b) "Planet vs. Plastics"

(c) “Connecting People and Plants,
Exploring Digital Innovation in Wildlife
Conservation”

(d) "Green Skills for Youth: Towards a
Sustainable World”

Who among the following has been appointed
as President of South Africa?

(a) Halla Témasdottir

(b) Cyril Ramaphosa

(c¢) Gitanas Nauséda

(d) Nayib Bukele

119.

120.

121.

122.

(30 — A)

T fU T HIe H ST FE FE IW GA

(a) Had 1

(b) Had 2

(c) 1 3R 2 gl

(d Fdq1, 782

IW YR a5 I Wit & fr=fafea wat

T faamr =

1. T & AT R

2. A &1 AT -

3. @%@ U H fewm

4. HF W TRH T

ST TSTEd Gl il 3TRE! A H Faferd

e

(@ 2,3,1,4

(b) 4,2,3,1

(c) 2,4,3,1

(d 2,4,1,3

G-I * G-I 9 gofera Y 3R A=

T e 1 ITAN Hleh Tl I Ul

et 1 (T wedteR ) Gt 11 (SATTeR -1 )

A.  SRIfgE 1. 79 T

B. T&m 2. GIHT 3T

C. 3w 3. SAfean A

D. @A 4. THAG garget

-
A

(@ 4

(b) 2

(© 3

@d 31 2 4

forga yepfd Geeqor fea® 2024 <1 faw=r =@ on?

(a) “W T ¥ feerar”

(b) “7E T s

(c) “@nt 3R Wl i S, a=sie T
T fefSed Tam=R &t @ &’

(d) “gameti & fau i@ #wee: o e
3fm &t iR

T & ° frafafea 4 @ &g <faor sthte

1 Tegata e feman e 22

(a) BTel TSI

(b) faf@ T=wmn

(c) Tam™ e

(d) & g

— N W W ™
— B~ NN
.b»—t»—tc
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What was India’s overall rank in the recently
held 19" Asian Games?

(a) 2nd

(b) 3%

(C) 4lh

(d) Sth

Consider the following statements regarding

the Paris Olympics 2024

1. It was the 32" edition of the Olympics

2. In these Games India improved its
performance as compared to Tokyo
Olympics 2020

Select the correct answer using the code given
below:

Code-

(a) Onyl1

(b) Only?2

(c) Both1and?2

(d) Neither 1 nor 2

G20 Summit of 2024 was held in which of the
following places?

(a) Rio de Janeiro, Brazil

(b) Bonn, Germany

(c) Palermo, Italy

(d) New York, U.S

How many railway stations have been
identified for modernization under the “Amrit
Bharat Station Scheme” in Uttar Pradesh as of
October 20247

(a) 157

(b) 57

(c) 257

(d) 197

Match list-1 with List- II and select the correct

answer using the code given below the lists:
List- 1

(a) Moderna

(b) AstraZeneca-Oxford

(¢) Sinovac-CoronaVac

(d) Novavax

List- 11

mRNA Vaccine

Protein Subunit Vaccines

Inactivated or Attenuated Virus Vaccine

Viral Vector Vaccine

bl e

123.

124.

125.

126.

127.

(31-A)

T B A osTfed 199 URMEE Wl § 9Rd

T THT TIE FT 41?

(a) 3HU

(b) drE

(c) en

(d) ur=El

ufRm ofefus 2024 & Haw o f=fafed

HYAl R faEr =

1. 9% 3fifeh a1 3241 G&hIUl o

2. T Wl H 9Rd A I 3WeAfuE 2020 Hi
o | T9H YREA § gEw fwa

= fST 7T S F ST Fh & IW A

——

(a) Had 1

(b) Had 2

(c) 1 &R 2 g

(d T 1A 2

2024 &1 20 BreR woen f=fafes § @

forg Tomm W sTEfed g en?

(a) T 2 SR, St

(b) @, ST

(c) TetH, gt

(d) =, T

AL 2024 Toh I Y1 H A 9RA LI

ST & q8d YTl & fau faa e@

YAl & 9gEE HI TE 872

(a) 157

(b) 57

(c) 257

(d) 197

-1 1 gA-11 ¥ gufaad = R giea &

= f<T 7T e 1 ITAM Flh HEl IW G
geit-1

(a) wrei

(b) TESHHI-STFIERIS

(c) TEEs-HRAE

(d) remEed
Teit-11
1. mRNA oo
2. A wegfte Se
3. fafra = eftor arRE =
4. IPRA SRR S
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ABCD
@ 1 4 3 2
b) 1 3 4 2
© 1 2 3 4
d 4 312

In which of the following state is the Guru
Ghasidas-Tamor Pingla Tiger Reserve
located?

(a) Madhya Pradesh

(b) Chhattisgarh

(c) Uttar Pradesh

(d) Bihar

Recently who has been awarded the Booker
Prize 2024 for orbital?

(a) Samantha Harvey

(b) Percival Everett

(c) Colin Barrett

(d) Rachel Kushner

The world’s longest twin-lane tunnel connects
which of the following two locations?

(a) Tezpur and Dhubari

(b) Tezpur and Tawang

(c) Tawang and Guwahati

(d) Guwahati and tezpur

Given below are two statements, one is labelled
as Assertion (A) and other as Reason (R):

Assertion (A) - Gasoline and Diesel Reference
Fuels” produced by Indian Oil’s Paradip &
Panipat Refineries are more efficient than
conventional petrol and diesel.

Reason (R) Gasoline and Diesel Reference
Fuels have high octane number

Select the correct answer using the code given

below:

Code:

(a) (A)istrue but (R) is false

(b) (A) is false but (R) is true

(c) Both (A) and (R) are true and (R) is the
correct explanation of (A)

(d) Both (A) and (R) are true but (R) is not
the correct explanation of (A)

With reference to IIT Madras, Which of the

following statement/s is/are correct?

1. Ttisthe first IIT to have its campus outside
India.

2. Its first foreign campus has been set up in
Tanzania’s Zanzibar.

12.8

129.

130.

131.

132.

(32-A)

A B C D
@ 1 4 3 2
® 1 3 4 2
© 1 2 3 4
@ 4 3 1 2

T STEerE-qHR e e fod Frefotad

¥ 9 form vsa o frem 22

(a) A T

(b) BTG

(c) IW WH

(d) faer

B & H Affded & AT gt TR 2024 9

g gufra fean T 22

(a) HHN BE

(b) T TR

(c) whife e

(d) =A@ BIR

<Fe w R e foe e g frefetad

o | ford < ol i Siedr €2

(a) TG SR g

(b) TG SR @

(c) eI SR e

(d) TR SR TR

9 < wed Ry MU €, ww i A (A)

3R TR H HRU (R) F& T

arfreReM (A): Sfeo effaet &1 N @ik

gHiga feEAfEl gr Sonfed @ @R

ot Hed oM URufte g SR e &

qo o e e B

HIUT (R): e 3 €ioer ged $om o

3I=9 SR HE B 7

= fau 7T Fie H ST FF T I -

HIe-

(a) (A) ¥ ® oifer (R) 38 @

(b) (A) ¥9F B Afehd (R) TA ©

(©) (A) 3R (R) <l ¥ € 3R (R) (A) 1
T TR 2

(d) (A) 3R (R) I TcF & AT (R)(A)
& e T e

T ws@ & ged o, ffefea 4 9 &9 @

o Tl B2

. 98 9Rd & o8 379 YR Wad ol
Tgell 1T ®|

2. 3HE UEdl foaeh aRER dSan & Sisiar
o wonfya fRan w2
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Select the correct answer using the code given
below -

Code:

(a) Only1

(b) Neither 1 nor 2

(c) Both1 and2

(d) only?2

According to the Economic Survey 2023-34

about employment, which statement among

the following is not correct?

(a) Manufacturing sector is the third largest
sector in India to provide employment

(b) Service employs 28.9% of
employees in the Country.

(c) Outofall employed people in the country

Sector

there are 21.8 % casual labourers.
(d) Salaried Workers constitute only 20.9%.
of all employed people in the nation.

Who has authored the book “War”?
(a) Kuldeep Gupta

(b) Bob Woodward

(c) Tarun Chugh

(d) Shri Omita Paul

Russian Air Force Ilyushin I1-76 military
transport plane crashed in which of the
following place?

(a) Syria

(b) Ukraine

(c) Russia

(d) Afghanistan

Which of the following districts is not included
in the State Capital Region of Lucknow?

(a) Hardoi

(b) Ayodhya

(c) Sitapur

(d) Lucknow

Which of the following is the correct medal
tally of India at the Paralympic 2024?

(a) 7 Gold, 10 Silver and 12 Bronze

(b) 9 Gold, 7 Silver and 13 Bronze

(¢) 7 Gold, 9 Silver and 13 Bronze

(d) 8 Gold, 9 Silver and 12 Bronze

Which of the following is not true about the
total outlay in the union budget 2024-25?

(a) Centrally sponsored scheme (8%)

(b) Defence (8%)
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(c) pensions (4%)
(d) Finance commission and other transfers
(10%)

Which ofthe following (sector-wise allocation

in the Union budget) is correctly matched?

(a) Rural development- Rs. 265808 crores

(b) Agriculture and allied sector- Rs. 165234
crores

(¢) Education- Rs. 122625 crores

(d) Health- Rs. 105567 crores

Which of the following countries became the
first country in the world to enshrine the right
to abortion in its Constitution?

(a) USA

(b) France

(c) UK

(d) Italy

Who is the author of the famous novel “Mujhe
Pahachaano” which has received Sahitya
Akademi Award 2023?

(a) Swapnamay Chakrabarti

(b) Sadiga Nawab Sahar

(¢) Neelum Saran Gour

(d) Sanjeev

What was the main cause behind massive

protests in Bangladesh which led to the fall of

government?

(a) 30% quota in State legislatures for
descendants of freedom fighters

(b) 30% quota in government jobs for
descendants of freedom fighters

(¢) 30% quota in parliament for descendants
of freedom fighters

(d) 30% quota in local bodies for descendants
of freedom fighters

In Which of the following countries India’s
First Overseas Jan Aushadi Kendra has been
established?

(a) Nepal

(b) Bangladesh

(c) Mauritius

(d) Bhutan

Which of the following countries has launched
the Angara-AS rocket?

(a) India

(b) Russia

(c) USA

(d) China
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With reference to Daniel Kahneman who died

recently, which of the following statement/s

is/are correct?

1. He had received the Nobel Prize for
Behavioural economics.

2. He had served in the Israel Defense
Forces.

Select the correct answer using the code given
below:

Code:

(a) Both 1 and2

(b) Only1

(¢) Neither 1 nor 2

(d) Only2

Where was the 7™ edition of “Shakti Exercise”
carried out in May 20247

(a) Meghalaya

(b) Uttar Pradesh

(¢) Rajasthan

(d) Uttarakhand

Rouf'is a folk dance of which of the following
states/UT?

(a) J&K

(b) Ladakh

(c) Himachal

(d) Goa

Who among the following won Saraswati
Award 2023?

(a) Sharankumar Limbale

(b) Ram Darash Mishra

(c) Sivasankari

(d) Prabha Varma

As per the SDG index released by NITI Ayog,
which of the following group of states/UTs is
in fastest moving category?

(a) Uttar Pradesh, J&K and Uttarakhand

(b) Sikkim, Haryana and Asam

(c) Uttar Pradesh Haryana and Sikkim

(d) J&K, Sikkim and Asam

Which of the Following nuclear-powered
ballistic missile submarines (SSBN) was
commissioned into the Indian Navy in August
20247

(a) INS Vela

(b) INS Karanj

(c) INS Vagir

(d) INS Arighaat
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